Parts Information:
E A L E Shot Blaster with Water Trap & Wheels
75Itr

Model No: SB998

Item | Part No. Description Item | Part No. Description
1 | sB998.01 TANK 90ltr 18A | SB998.18A THROTTLE VALVE 3/8" F/F
2 | sB998.02 WHEEL,FIXED (138x13x31) 18B | SB998.18B CONTROL VALVE 3/8" (F/F)
3 | sB998.03 COTTER PIN 19 | SB99819 INLET CONNECTOR
4 | sB998.04 TANK FOOT 20 | SB998.20 NIPPLE CONNECTOR
5 | SB998.05 WHEEL AXLE 21 | sB998.21 AIR HOSE
6 | SB998.06 HANDLE (SET) 22 | SB998.22 OUTLET VALVE
7 | sB998.07 HANDLE GRIP 23 | SB998.23 HOSE CLAMP
8 | MSC6355 CSK PHILLIPS MACHINE SCREW M6x35 24 | SB998.24 SAND HOSE
(SINGLE 29 | SB998.29 FUNNEL (USE F4)
9 | sNes STEEL NUT M6 ZINC DIN934 (SINGLE) 50 | Fwmizs FLAT WASHER M12 SINGLE
10 | SB99810 SAFETY VALVE 51 | FWMI2S FLAT WASHER M12 SINGLE
| SB99sM O-RING — | sBogsaG SHOT BLAST GUN (NOT SHOWN)
12| SB998.12 TANKFILLER CAP — | sB9gsa1 CERAMIC NOZZLE SET (2,2.5,3,3.5mm) (NOT
13 | SB99813 INTAKE PIPE SHOWN)
14 | SB998.14 INTAKE VALVE ~ | sB998.30 MASK (NOT SHOWN)
15 | SB99815 GAUGE 230psi, 6+0mm OD, btm mounting — | sB998.30A LENS FOR MASK (NOT SHOWN)
16 | SB998.16 NIPPLE 3/8" — | sB99s.G2 5mm CERAMIC NOZZLE (NOT SHOWN)
177 | sB998.17 FILTER — | sB998.G19 TAIL PIECE (NOT SHOWN)
18 | SB99818 AIR VALVE 3/8"

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
IMPORTANT: No liability is accepted for incorrect use of product.
WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim.

Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR

I 01284 757500 | |ﬁ 01284 703534 | @ sales@sealey.co.uk | www.sealey.co.uk

Page 10of1 SB998 Issue 2 PL 7/02/18




